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Question 1- what value will come in place of question mark 

in the given series.

प्रश्न 1- दी गई श्रृंखला में प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

11, 13, 29, 91, ?

A. 369

B. 361

C. 349

D. 249

E. 149
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Question 2- what value will come in place of question mark in 

the given series.

प्रश्न 2- दी गई श्रृंखला में प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

8, 72, 121, 157, 182, ?

A. 192

B. 198

C. 199

D. 172

E. 182
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Question 3- what value will come in place of question mark in 

the given series.

प्रश्न 3- दी गई श्रृंखला में प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

11, 12, 14, 20, 44, ?

A. 144

B. 164

C. 154

D. 134

E. 174
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Question 4- what value will come in place of question mark in the 

given series.

प्रश्न 4- दी गई श्रृंखला में प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

12, 24, 30, 60, 66, 132, ?

A. 130

B. 133

C. 148

D. 138

E. 158
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Question 5-

(i) (p+15)2 = p + 15

(ii) q2 + 13q + 40 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 6-

(i) 2p2 - 13p + 21= 0

(ii) 448 =  7q3

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 7-

(i) 2p2 -10p – 12= 0

(ii) 𝑞3 = 𝑞2

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 8-

(i) p2 + 15p + 56 = 0

(ii) q2 + 17q + 72 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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A. Rs 310

B. Rs 210

C. Rs 220

D. Rs 180

E. None of these

Question 9- The ratio of cost price and selling price of an article is 7:5. If 

the marked price is 40% above the cost price and the article sold after a 

discount of  Rs 192 then find the cost price of article.

प्रश्न 9-  क वस्त ुके क्रम मलू्म औ् चवक्रम मलू्म का अन परकुात 7:5 ह।ै मचद अृंचकत मलू्म क्रम 

मलू्म से 40% अचिक ह ैऔ् वस्त ु192 रुकमे की छूट के बाद बेिी जाती ह,ै तो वस्त ुका क्रम 

मलू्म ज्ञात कीचजमे।
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Question 10- The income of P, Q and R is 16:9 :5. If P spent 75% of his 

income, Q Spent 2/3rd of his income and R saves 40% of his income. Find the 

ratio of there saving.

प्रश्न 10- P, Q औ् R की ाम 16:9:5 ह।ै मचद P अकन परी ाम का 75% खिच क्ता ह,ै तो Q 

अकन परी ाम का 2/3 भाग खिच क्ता ह ैऔ् R अकन परी ाम का 40% बिाता ह।ै वहाृं बित का 

अन परकुात ज्ञात कीचज । A. 4:3:1

B. 4:3:5

C. 4:3:7

D. 4:3:2

E. None of these
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Question 11- A person bought 10 balls for Rs (y+4) each and (2y+20) 

balls for Rs 6 each. If the total price of each ball purchased by him is 

Rs 10 then find value y.

 क व्मचि ने पर 10 गेंदों को (y +4) प्रत्मेक गेंद (y +4) में औ् (2y + 20) गेंदों को 6

रुकमे में प्रत्मेक में ख्ीदा। मचद उसके द्वा्ा ख्ीदी गई प्रत्मेक गेंद का कुल मलू्म 10 रुकमे 

ह,ै तो मान पर y ज्ञात कीचजमे।

A. 40

B. 50

C. 60

D. 70

E. None of these
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Question 12- Ajay and Tony started a business with total Rs 14,000 such that 

after 6 months Ajay removes 50% of the sum invested by him. At the end of 1 

year and 6 months ratio of profit of Ajay and Tony is 2:3. Find the sum invested 

by Tony.

प्रश्न 12- अजम औ् टोन परी ने पर कुल 14,000 रुकमे के साथ  क व्मवसाम शरुू चकमा ताचक 6 महीने पर बाद 

अजम अकन परे द्वा्ा चन परवेश की गई ्ाचश का 50% चन परकाल द।े 1 वर्च औ् 6 महीन परे के अृंत में अजम औ् 

टोन परी के लाभ का अन परकुात 2: 3 ह।ै टोन परी द्वा्ा चन परवेश की गई ्ाचश ज्ञात कीचज ।

A. Rs 21,000

B. Rs 14,000

C. Rs 7,000

D. Rs 15,000

E. None of these
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Question 13- P gave 40% of his income to Q and rest to R. If the difference 

between the share of Q and R is Rs 8000. Then share of S is what percent of 

share of Q if it is given that share of S is Rs 6000.

प्रश्न 13- P न परे अकन परी ाम का 40% Q को चदमा औ् शेर् R को। मचद Q औ् R के चहस्से के 

बीि का अृंत् 8000 रुकमे ह।ै तो S का चहस्सा Q के चहस्से का चकतन परा प्रचतशत ह ैमचद मह चदमा 

जाता ह ैचक S का चहस्सा 6000 रुकमे ह?ै
A. 50%

B. 22.22%

C. 12.5%

D. 33.33%

E. None of these
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Question 14- A mixture contains milk and water in ratio 7:5. 18 liter of 

water added then quantity of water becomes 80% of quantity of milk. Find 

the quantity of water in final mixture.

 क चमश्ण में दिू औ् कान परी का अन परकुात 7:5 ह।ै 18 लीट् कान परी चमलामा जाता ह ैतो कान परी की 

मात्रा दिू की मात्रा का 80% हो जाती ह।ै अृंचतम चमश्ण में कान परी की मात्रा ज्ञात कीचजमे।

A. 168 L

B. 128 L

C. 112 L

D. 114 L

E. None of these
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Question 15- The ratio of the speed of boat P, boat Q and the stream is 

10:12:7. The difference between the speed of boat P and Q is 4 km/hr. Find 

the difference of time taken by boat P and boat to cover 680 km downstream 

and by boat Q 200 km in upstream.

प्रश्न 15- न पराव P, न पराव Q औ् िा्ा की गचत का अन परकुात 10:12:7 ह।ै न पराव P औ् Q की गचत के 

बीि का अृंत् 4 चकमी/घृंटा ह।ै न पराव P औ् न पराव द्वा्ा िा्ा के अन परकूुल 680 चकमी औ् न पराव Q 

द्वा्ा िा्ा के प्रचतकूल 200 चकमी तम क्न परे में चल  ग  समम का अृंत् ज्ञात कीचज ।
A. 4 hr

B. 0 hr

C. 3 hr

D. 5 hr

E. None of these
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Question 16- What value will come in place of question mark.

प्रश्न 16- प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

15% of 600 + 16% of 8000 = ?×? + 74

600 का 15% + 8000 का 16% = ?×? + 74

A. 26

B. 16

C. 36

D. 46

E. None of these
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Question 17- What value will come in place of question mark.

प्रश्न 17- प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

24% of 30% of  1800 - 676 = ?/5

1800 के 30% का 24% - √676 = ?/5

A. 5550

B. 5350

C. 6350

D. 7350

E. None of these
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Question 18- What value will come in place of question mark.

प्रश्न 18- प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

22 + 122 + 222 = ?× 4 - 134

A. 125

B. 115

C. 95

D. 85

E. None of these
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Question 19- What value will come in place of question mark.

प्रश्न 19- प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

150% of 300 + 24% of 500 = ? + 60% of 300

300 का 150% + 500 का 24% = ? + 300 का 60%

A. 290

B. 390

C. 590

D. 490

E. None of these
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Question 20- What value will come in place of question mark.

प्रश्न 20- प्रश्न चिह्न के स्थान पर क् ा मा मान पर ा गा?

44× 44 + 75% of 4400 – 12% of 625 = ?

44× 44 + 4400 का 75% – 625 का 12% = ?

A. 1194

B. 2294

C. 1394

D. 1894

E. None of these
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